C 1
( ) 2
¢ )3

A & R DL T R S ey 2
list_A = [1, 2]

list_B = [4, 3]

list_C = list_A + list_B
list_ D = list_C * 2
print(list_D)

(A) [10,10] B) [1, 2,4, 3]
©) [2,4,8, 6] (D) [1,2,4,3,1,2,4, 3]

KEeMEBRBLAGEEBIMAEE S LB/ N BENERFI
#H o BT YRR (E = A DUE R R ET H AR 2

(A) average saving = int(total deposits / all customers)

(B) average saving = total deposits % all customers

(C) average saving = float(total deposits / all_customers)

(D) average saving = total deposits // all _customers

R HEAE R T R @ 2
print (type (-1E10))
print (type (False))

print (type(1.0))

print (type("False"))

>
U
T
m
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Appendix A
( ) 4.
( ) 5.
( ) 6.
( ) 7.

(A) <class 'int"> <class 'bool> <class 'float'> <class 'str'™>
(B) <class 'float'> <class 'bool™ <class 'float'> <class 'str'>
(C) <class 'float'> <class 'str'> <class 'float'> <class 'str'>

(D) <class 'float"> <class 'bool'> <class 'float'> <class 'bool™>

SR B DU A2 A AT E H 7
valuel = 24

value2 = 7

value3 17.9

answer = (valuel % value2 * 100) // 2.0 ** 3.0 - value2

print (answer)

(A) 30.0 (B) 30.5
(C) 457 (D) FEEFEEIER

<o e 1) S (SR T ] LS R R R B B R A - DA RS IR R
TR/ B, 2

(A) math.fabs(x) (B) math.floor(x)

(C) math.fmod(x) (D) math.frexp(x)

B T SR 2 B0 e B R 7] 7

import datetime
d = datetime.datetime (2021, 12, 14)
print(‘{:%B—%d—%y}'.format(d))

(A) 12-14-21 (B) 12-14-2021
(C) December-14-21 (D) 2021-December-14

FHUEEHHTHER

* k kk
*

* k kK

* x k%
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T FRE R A W {1 22 A% 4 B R A AT 2
result_str = "
for row in range(1l, [J):

for column in range(l, [):

if (row == 1 or row == 3 or row == 5)
result_str += "*"
elif column == 1:
result_str += "*"
result_str += "\n"

print (result_str)

(A) 5 5 (B) 5
() 6 5 (D) 6

N O

( ) 8. RRIEREMATRET T LT A B RHAIFZ B

item = input("Enter the item name:")

sales = input("Input the quantity:")

FE# AR - T E LT AR ER -

= DIEES[BRfE AT &

» APA5[BRECE T R R BT

= DUEEL s IREE

T~ Z B I {1 538 3 ] LS ol 3 1 A g HH SR IE 2
(A) print("{0}",{1}".format(item, sales))

(B) print(""'+item+"",'+sales)

(C) print("{0},{1}".format(item, sales))

(D) print(item+','+sales)

( ) 9. ZNRAEEAE Python XN AGERE » 7 B EBEE Mk & 7T DU A2
THRARTE R - 55 e E R T 5 —TEE & 2
(A) FEREZCHS Fr B <!--F0-->Z A GE R
(B) EEM—TH#REMRATRE
(O) EEMA—1TH/RERAGERE
(D) FEREE B i/ F*/ 2 B TR A GE R
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( ) 10.

AR EEE A RS YR ERIRERE T
. TR SIS
» HEEFES _ =55
= EEEFE 100
5 R R RS {558 TE AT DUBUH 7 & ZE R B BB R BT IE 7 (
(A) from random import randint -
print(randint(1, 20)*5)
(B) from random import randint
print(randint(0, 20)*5)
(C) from random import randrange
print(randrange(5, 105, 5))
(D) from random import randrange
print(randrange(0, 100, 5))

(
‘ ZafHRR
|
! g 1
| () 1. BRI TIRERBT AR EERER T ? | =i
| rooms = {1l: 'Foyer',6 2: 'Conference Room'} ] 5
(
(A) TAMEEFEH (B) FEREERAMME ! . £
(C) EHEHFH (D) TFEREREEELEY :
() 2. FEMETHRATET - BB room 2 {THEH AL ?
room = input ('Enter the room number:')
(A) bool (B) float
(C) int (D) str
( ) 3. A | ERYREEER - SBRE TYIS R EMABNEXE AR

SR T, o Bk BRI T Foyer,
if not room in rooms:
print ('Room does not exist.')

else:

print ('The room name is ' + rooms[room])
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(A) FHiLsER (B) &I RER
(C) gy s g (D) R gk

°R HITE TSR o 5 & print FIT RN B P9 25 ] 2
a = 'Codel’

print(a)

b =a

a += 'Code2’

print(a)

print (b)

(A) Codel (B) CodelCode2
(C) Code2 (D) Code2Codel]

AL BRI =1 print BRI 25 fa] 2

room = input ('Enter the room number: ')

"(A) Codel (B) CodelCode2

(C) Code2 (D) Code2Code]

Tﬁﬁiﬁiﬁ%ﬂb&i&ﬁﬁﬁ?ﬁéﬁ@?@%%fﬂ » %A Tnohtyp | - grig

fi Tpython, - #p& | ﬂﬁ%*ﬁé’ﬁ%fﬁﬁ%)—#ﬁ%@%ﬁ[%?
def reverse_name(backward_name):

forward_name = nn

while(length >= 0):

length -= 1
return(forward_name)

print (reverse_name ( 'nohtyp'))

(A) backward name

(B) len(backward_name)-l

(C) range(0, len(backward_name), -1)
(D) range(len(backward_name)-1, -1, -1)

=y

p—
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( ) 2.
ZEH 4

( )1

( ) 2

( ) 3

( ) 4
#E5H 5

( )1

& FRE o FEREE 2 AR E BB R 2
(A) backward name[index]

(B) backward name[length]

(C) backward name[length+1]

(D) backward name[len(backward name) — len(forward_name)]

H—AFEUMT » 550 alpha[3:151F8 S BUHIA AR T & 2
alph = "abcdefghijklmnopgrstuvwxyz"

(A) defghijklmno (B) dgjm

(C) pmjg (D) zwtgnkheb

& FRE - 558 alph[3:15: 38 L BRI E R T YA 2
(A) defghijklmno (B) dgjm
(C) pmjg (D) zwtgnkheb

S 1 FE - 35 alph[15:3:-313 8 BN YA BB T A& 2
(A) defghijklmno (B) dgjm
(C) pmjg (D) zwtqnkheb

A 1 BE > R alph[- 3B VA B B N IIMA & 2
(A) defghijklmno (B) dgjm
(C) pmjg (D) zwtgnkheb

THIFZAEE T LAGE word _list ERFIH » $ HBE(E = BEH IR B R B

RS 1 2SR U Fr B R T 2
def count_letter(letter, word_list):
count = 0
for | 1 |
if | 2 |

count += 1

return count

word_list = ['a', 'a', 'b', 'c']




=EiH 6

Bl

Certiport ITS Python BB EXRBHBEREEERE

letter = input("which letter would you like to count")

letter_count = count_letter(letter, word_list)

print ("There are:", letter_count, "instances of " + letter)
(A) word list in word: (B) word in word_list:
(C) word == word _list: (D) word is word_list:

& ERE - FEEE 2 (E AR R S Fr B FE R 2
(A) word is letter: (B) letter is word:
(C) word in letter: (D) letter in word:

7% Python FEUIEFERAT » FERISE 1 (2248 HURE =0HE Fr B R 7]

2

numList = [1, 2, 3, 4, 5]

alphalList = ['a', 'b', 'c¢', 'd', 'e'l
| 1 |

print ("The values in numList are equal to alphalList")
I 2 |

print ("The values in numList are not equal to alphalList")

(A) if numList = alphalList: (B) if numList == alphaList:
(C) if numList += alphaList: (D) if numList -= alphaList:

A ERE - R 2 [EZE AR WIRE =S B e R A 2
(A) else: (B) elif:
(C) elseif: (D) el:

AT EBFESHER 150000 ZTHE TR T AR ¢
FHIFHE = HETHE x 108% + 100 E TS

S LHIFTEFER salary list B5r0 - ZEZE T Python f2 =0 IEREH
c SEMEE 1 {E AR s R E R E 2

\HI[H

aq

A-7



Appendix A

1 |
if salary list[index] >= 150000:

salary_list[index] = (salary_list[index]*1.08)+100

(A) for index in range(len(salary_list)+1):
(B) for index in range(len(salary_list)-1):
(C) for index in range(len(salary_list)):
(D) for index in salary_list:

& LR 0 SEREE 2 AR A B R A 2
(A) exit()

(B) continue

(C) break

(D) end

BT IRFAEERENZ 2 Bas TROBERE > NESTHR
ZHEB - BRIE | EERNEA R RERTE ?
def safe_divide (numerator, denominator):
L 1 ]
print ("A required value is missing.")
2 |

print ("The denominétor is zero.")

else:

return numerator / denominator

(A) if numerator is None or denominator is None:

(B) if numerator is None and denominator is None:

(C) if numerator = None or denominator = None:

(D) if numerator = None and denominator = None:

& FRE o BRI 2 AR RIER (TS 7
(A) elif denominator == 0: (B) elif denominator = 0:

(C) elif denominator != 0: (D) elif denominator in 0:
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7HfH 9

( ) 1. THIRABHGEER L THIER ¢

= [0 process() BRI E

" AR processO R BEIFERR - HIMENY logError() =,
» [0 processORRIF % » —EEFEOY displayResult() 5 =,
RIZREA T GEEE K > SR | (HERARE S e ] 3 2

I

process ()

I

logError ()

I

displayResult ()

(A) try: (B) except:
(C) finally: (D) assert:

( ) 2. R ERE - BRI 2 EAESERE N RERE 2
(A) try: (B) except:
(C) finally: (D) assert:

( ) 3. RES 1 RE - FEMIE 3 EAEAERBH RERAE 2
(A) try: (B) except:
(C) finally: (D) assert:
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10
( 1L

By T FEHE S R B 1 ( room_number ) F1E B Bk 5 B 7L Bl
(group) -+ HEFETLNTRENXMG - FEME 1 AREEE M ERIE
Fyfal & 2
import random
roomAssigned = [1]
room_number = 1
groupList = ['G_A', 'G_B', 'G_C', 'G_D']
count = 0
name = input("Please enter your name (g to quit):")
while name != 'g' and count < 50:

while room number in roomAssigned:

L 1 ]

print (£" {name}, your room number is {room_number}")

roomAssigned.append (room_number)
I 2 |
print (f"You will meet with the {group} group")

count += 1

name = input("Please enter your name (g to quit):")

(A) room_ number = random(1, 50)
(B) room_number = random.randint(1, 50)
(C) room number = random.shuffle(1, 50)

(D) room_number = random.random(1, 50)

& FRE - 5 2 EZ s IR BRIE R 2
(A) group = random.choice(groupList)

(B) group = random.ranfrange(groupList)

(C) group = random.shuffle(groupList)

(D)

group = random.sample(groupList)




Certiport ITS Python BRI E 5 HRREEERE l A-11

=EirE 11

( ) 1. RBAEREEET —EREARESNER B D B EE L%
A5 - SRR - ZERAEXBAT -
product = [0, 1, 2, 3, 4]

index = 0

[ 1 J(index < 5):

print (product [index])

if product[index] == 2:

else:
AR SRS 1 (E 22 A8 RRR RS Fr R P R (] 2 2
(A) while (B) for
(C) if (D) break

( ) 2. FEEE - FHE 2 ERSOERNBH BER A 2

(A) while (B) for
(C) if (D) break
( ) 3. ZRES 1R - M 3 EERNERE N RERAE 2
(A) continue (B) break
(C) index +=1 (D) index =1

B 12

( ) 1. PUNEERRAR assert IERIAGHE - G EH a B b WEES
FHIE » T FAT & IERE 2
(A) assertEqual(a, b) (B) assertTrue(x)
(C) assertls(a, b) (D) assertIn(a, b)

( ) 2. ALE - HEWEYM B b 2EME - TYAEIER 2
(A) assertEqual(a, b) (B) assertTrue(x)
(C) assertls(a, b) (D) assertIn(a, b)
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( ) 3.
13
( ) 1
( ) 2
7258 14 -
( )1

RE1E AR BENRGEAEREMEE - MYIAZIERE ?
(A) assertEqual(a, b) (B) assertTrue(x)
(C) assertls(a, b) (D) assertIn(a, b)

ARG T —ERRES A hEEREEFE  OR
REFEIEREAS - HEUBT -
import os
if | 1 |
file = open('myFile.txt"')
| 2 I

file.close

A 1 EEERERXTEF BRIER A ?
(A) isfile('myFile.txt'): (B) os.exist('myFile.txt"):
(C) os.find('myFile.txt'): (D) os.path.isfile('myFile.txt"):

AL - FEHE 2 MR RERTE FRERMAE 2
(A) output('myFile.txt") (B) print(file.get('myFile.txt"))
(C) print(file.read()) (D) print('myFile.txt")

EAFE—EFEEE ZEATLETREEE AT A H ok
PEFE  PEFELIFRREETE - ARl aT

employee_pay = [25000, 28000, 33000, 98000]
count = 0
Sum = 0
for index in range(O0, | 1 |
count += 1
Sum += employee_pay[index]
I 2 |
print ("The total pay is:", Sum)
print ('The average salary is:', average)
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Certiport ITS Python EFfM R EREBEREZEEAE

M 1 =S RRES F ERERAE 2
(A) size(employee pay)): (B) size(employee pay)-1):
(C) len(employee pay)+1): (D) len(employee pay)):

A ERE - GBI 2 (E R R NS Fr B FE R (] 3 2
(A) average = Sum/count (B) average = Sum**count

(C) average = Sum*count (D) average = Sum//count

Froala—EFEFEREN ZEATLETE LS A B Rk i
FIFE  PEFENEREGTE - HEABOT -

import datetime

dailySpecials = ("Pasta", "Cheese", "Salad", "Beef")
weekendSpecials = ('Lobster', 'PrimeRib')

| 1 |

| 2 |

print ("My Healthy Eats Delivery")
if(today == "Fri." or today == "Sat." or today == "Sun."):
print ("The weekend specials include:")
for item in weekendSpecials:
print (item)
else:
print ("The weekday specials include:")
for item in dailySpecials:
print (item)
| 3 |
print (f"Pricing specials change in {daysLeft} days")

M 1 (22 AE RE =00 B FE R feT o 2
(A) now = datetime()

(B) now = datetime.date()

(C) now = datetime.datetime.now()

(D) now = new date()

A-13
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( )y 2. AR RIS 2 (HZe kg R =S Fr B R 7
(A) today = now.strftime("%A")
(B) today = now.strftime("%B")
(C) today = now.strftime("%W")
(D) today = now.strftime("%Y")

( Yy 3. & 1 EE - RIS 3 EERREREF RERAE Y
(A) daysLeft = now - now.weekday()
(B) daysLeft = today - today.weekday()
(C) daysLeft =6 - now.weekday()
(D) daysLeft=6— datetime.datetime.weekday()



